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BI5 KEREL y=sinx® BIFH y'.
iR ¥y =sinx2 MR y=sinu5 u= x* XEHEA
EAVEFREBMEES, TREBENEN, F

ﬂ_dy du . ., 5,
dx du dx = (SInu)(x7)
=COSU-2X
= 2% COS X°.
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#6 REERE y=x*(aREH, x>0) KT

R y=x*=e*"" Biliy=e"Su=alnx &M,
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Bl7 XT?JEI%U?(JE}%( :
(i) 1+ %2 (il (i) IN(X++/ 1+ x2).

\/+x

R sHEARFEN, 5}5%%;‘@?

() (1+x2)’ —(1+x) :. (1+%?) =

( \
1 _ 1 2\ — 2\

\J1+X2)

(1)
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(4
(i) [In(x+\/1+ % )}

1 2 \!
= 1
X+J1+%2(X+J o)
1

x+y1+x2 |1+ X2

1 \/1+x +X
X+J1+x J1+x

) =

1
J 1+ %2
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(i) f(x)=§arctan(%tan§);

sin2§=%(l—cos X)

cos” g = %(l+ COS X)

W@ () =2t Lgpex 1
3 14ltan2X 3 2 2
Chall X
cos? >
_2 9 1/ 5008
X
39c0525+sin25 6 cos2 2
2 2 ?
1 1

X .
9cos® = +sin® >
2 2
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X

7 X#0,
(i) g(x)=4 1+€
L 0, Xx=0.
14el/* 4 Lellx
T X
i) 24 x=0 B, g'(x)=
(W (1+eY%)?

WM x=0K, BEA
’ - 1 A X y
0,(0)= Iim [ /A —OJ =0,

Ax—0T AX| 1+e

’ - 1 A X

g_(0)= lim_ ( 1A% —OJ=1,
Ax—0" AX 1+e

Pl 9 £ x=0 A&,
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ﬁ%?“@%fcu(X)v(x) Al ST BCR SR S
SFER S ¥ u(x) >0, u(xX) 5 v(x) TS, N

(U(X)V(X)) =(ev(x)lnu(x)) — V(X)Inu(x)(V(X)|nU(X))'

= u(x)' | v (x)Inu(x)+ v(x) u'(x) .

u(x) _

i, xtFEs v=x"",

- . 1
(xs'”x) = x>""*[ cosxInx+sinx =
X

SHHOR SR RS B u(0" 0 B, teeRE
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(x? +1)3(x —2)¥4

B9 # y=

(5x —9)%/5

3R Y.

RS RBBIA BT, &
Iny =3In(x" +1)+leln(x— 2)—gln(5x—9).

y'  6X

1% ERBHIAR x FH

2

=2
1 2 [ BB

T =&
(X2 +1)%(x = 2)Y/4

=— + - I —.
y x°+1 4(x-2) 5 5bx-9

6 X 1 2

y

(5x —9)%/5
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(1) (uzxv)=u=xVv;

(2) (uv)=uv+uv, (cu) =cu'(c NEE):;

Y uv-uv (1) Vv’
o (3] (-
Vv Vv Vv Vv

\ dy _ .
(4) REBHIFE vl ol

dy dy du
dx du dx

(5) EEHRAHITH
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1) (c) =0 (cCRHHED);
(2) (x*)Y=ax" (aNEEEH);
(x) = .

 (x Ly =ox 2oL

1
T’ W2
1 5 1
(\/;) (X ) ZX% |

(3) (sinx) =cosx, (cosx) =-sinX;

(4) (tanx) =sec® X, (cotx) =—csc” X ;
(sec x)' =secxtan x, (cscx) =-—cscxcot X ;
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(5) (a*)=a"-Ina, (e*) =¢e" ;

’ 1 [ 1 i
(6) (log, X)'=——, (Inx)' =—;
xIna X
.\ 1 , 1
(7) (arcsin x)' = , (arccos x)' =— ,
2 2
1-X
(arctan x)' = L
1+ x?°
(arccot x)' = 2
1+ X%
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